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Build a 5-digit number from the parts
Write the 5-digit numbers

1

2

3

4

5

6

7

8

9

10

13,748 = 10,000 + 3,000 + 700 + 40 + 8

15,617 = 10,000 + 5,000 + 600 + 10 + 7

95,100 = 90,000 + 5,000 + 100

28,710 = 20,000 + 8,000 + 700 + 10

15,705 = 10,000 + 5,000 + 700  5

63,741 = 60,000 + 3,000 + 700 + 40 + 1

64,699 = 60,000 + 4,000 + 600 + 90 + 9

44,449 = 40,000 + 4,000 + 400 + 40 + 9

88,841 = 80,000 + 8,000 + 800 + 40 + 1

55,176 = 50,000 + 5,000 + 100 + 70 + 6
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Build a 5-digit number from the parts
Answer Key
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13,748 = 10,000 + 3,000 + 700 + 40 + 8

15,617 = 10,000 + 5,000 + 600 + 10 + 7

95,100 = 90,000 + 5,000 + 100

28,710 = 20,000 + 8,000 + 700 + 10

15,705 = 10,000 + 5,000 + 700  5

63,741 = 60,000 + 3,000 + 700 + 40 + 1

64,699 = 60,000 + 4,000 + 600 + 90 + 9

44,449 = 40,000 + 4,000 + 400 + 40 + 9

88,841 = 80,000 + 8,000 + 800 + 40 + 1

55,176 = 50,000 + 5,000 + 100 + 70 + 6
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Build a 5-digit number from the parts
Write the 5-digit numbers
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47,509 = 40,000 + 7,000 + 500 + 9

43,074 = 40,000 + 3,000 + 70 + 4

48,029 = 40,000 + 8,000 + 20 + 9

32,334 = 30,000 + 2,000 + 300 + 30 + 4

51,293 = 50,000 + 1,000 + 200 + 90 + 3

76,862 = 70,000 + 6,000 + 800 + 60 + 2

40,918 = 40,000 + 900 + 10 + 8

46,168 = 40,000 + 6,000 + 100 + 60 + 8

38,796 = 30,000 + 8,000 + 700 + 90 + 6

98,826 = 90,000 + 8,000 + 800 + 20 + 6
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Build a 5-digit number from the parts
Answer Key
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47,509 = 40,000 + 7,000 + 500 + 9

43,074 = 40,000 + 3,000 + 70 + 4

48,029 = 40,000 + 8,000 + 20 + 9

32,334 = 30,000 + 2,000 + 300 + 30 + 4

51,293 = 50,000 + 1,000 + 200 + 90 + 3

76,862 = 70,000 + 6,000 + 800 + 60 + 2

40,918 = 40,000 + 900 + 10 + 8

46,168 = 40,000 + 6,000 + 100 + 60 + 8

38,796 = 30,000 + 8,000 + 700 + 90 + 6

98,826 = 90,000 + 8,000 + 800 + 20 + 6


